REARRANGING EQUATIONS

1.Expanding brackets (multiply by the number in front of the bracket) ALWAYS DO THIS
FIRST
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usually easier to do adding and subtracting before multiplying and dividing (you
don"t
have to follow BEDMAS for rearranging equations like you do for straight math)
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USE A NUMBER LINE TO SHOW THE ANSWER TO AN INEQUALITY

Hollow dots are for "greater than" and "less than”
Solid dots are for "greater than or equal to" or "less than or equal to"

You must use an arrow at the other end to show if it keeps going
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Answer: -9,-10,-11,-12, etc
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For word problems you need to ask yourself “are part values allowed?”
If not use dots instead of a full line

¢). You must have 10 items of less to go to the express lane at the grocery store.

Answer: x< 10
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). Chantal’s mom said she should invite at least 10 people to her birthday party.

Answer: x> 10
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Solve inequalities the same way you solve equations EXCEPT change the sign
if you multiply or divide by a negative number.

ex. solve and graph the following
nequalities
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Corresponding sides: matching sides from the original and the new drawing.
Ex the bolfom of both (ex. between angle A and angle B on both)

When ALL THE CORRESPONDING SIDES have the same scale factor then
we can say the SIDES ARE PROPORTIONAL
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Similar Polygons: Matching angles are equal AND Matching sides
are proportional (they all relate with the same scale factor)

TRIANGLES: if the angles are the same it guarantees the sides will be proportional. If the sides
are proportional it guarantees the angles will be the same. Not true of squares/other shapes.



Diameter
m the distance across a circle, measured through its
center; or the line segment that joins two points on

U the circle and passes through the center,

r,// the distance or ling segment from the center of a
circle to any point on the circle.

Chord(s)

/ a line segment that joins two points on a circle.

Arc
A segment of the circumference of a circle.
Minor Arc

The shorter of arcs between two points on a circle,
For example:



‘,,.--r"""r' Tangent
Cj a line that intersects a circle at only one point.

Point of Tangency

thi point where a tangent intersects a circle
Central Angle

@/mmmmm

Inscribed Angle

An angle in a circle with its vertex and endpoints
of its arms on the circle,

R For example, / POR



MAMING AN ANGLE

L ABC

B middle letter is always where the angle actually is so this angle would be angle ABC
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o Tangent-Radius Property
B A tangent to a circle is perpendicular to the radius

at the point of tangency.
[/ apo = /BPO = 90°

In any circle with center O and chord AB:
« |If OC bisects AB, then OC 1 AB
+« IfOC-LAB,then AC =CB

« The perpendicular bisector of AB goes through the center O.

Remember:

.,_L Perpendicular means there is a 90° angle.

Bisector means it is divided into 2 equal parts

If AC = 10cm, then BC =10cm



Central Angle and Inscribed Angle Property

The measure of a cenfral angle is twice the measure of an inscribed angle subtended
by the same arc.

Inscribed angles subtended by the same arc are equal.

Angles in a Semicircle Property

Inscribed angles subtended by a
semicircle (half the circle) are right
angles. This means these angles
use the diameter.
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